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Language—I : English

Direction (QQ. No. 91 to 99)

Read the passage given below and answer
the questions that follow by selecting the
correct/most appropriate options :

Learning alanguage under any circumstances
require hard work and concentration. However,
the circumstances can make a difference in both
quality and quantity. Most foreign language stu-
dentslearn in a classroorm, from atext-book. In
a classroom, language learning can be controlled
o that all the necessary structure are taught.
Highly motivated students can thus learn the
language efficiently and quickly. Learning on
the streets and in the markets from experience
and need can be effective although the student
learns only what he happens to need, ina hap-
hazard way.

Some language students find this real -life situa-
tion more meaningful because the student’s suc-
cess in fulfilling their needs depends on their
language ability. However, shop-keepers are
more likely to betolerant of incorrect grammar
than classroom teachers, so mispronunciations
and errors will not matter much. Nevertheless,
the rewards are different for the type of lan-
guage learning situations. They are immediate
(goods, bought in a store) in the real-life but
delayed until a quiz or oral recital for the class-
room learner.
Thekind oflanguage learntin each setting differs
too. In the classroom, the student ismore likely
to learn the grammatical language of educated
people. The language learnt out of necessity
often lacks the fine details of the classroom
variety and might include informal expressions
such as slang. The people leaming on the street
must be easily understood. Therefore, they
might actually sound more like native speakers
—although not necessarily educated people. So
acombination of classroom instruction and the
experience of using langnage in the street will
result in the best language learning of all.
91. Study the following statements :
(a) Atschool onelearns the language of
educated people.
(b) Languagelearnt on the street includes
the use of.
(A) (a)is wrong and (b)is right.
(B) both (a)and (b) are right.
(C) both (a)and (b)are wrong
(D) (a)isright and (b)is wrong.
92. Which part of speech is the underlined
word inthe following sentence ?
The kind of language learnt in each setting,
differs too.
(A) Determiner  (B) Conjunction
(C) Preposition (D) Pronoun
93. Study the following phrase. Which part
of speech isthe underlined word ?

‘But delayed until aquiz ........... ’
(A) Determiner  (B) Conjunction
(C) Preposition (D) Pronoun

94, What does the word “motivated’ mean in
the following phrase ?

‘Highly motivated students can thus

(A) resourceful

(B) muddled
(C) interested (D) intelligent
95 in ahaphazard way.’
The word ‘haphazard® means :
(A) unorganized (B) Safe
(C) proper (D) dangerous
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96. The best place to correctly and quickly
learn aforeign languageis :

(A) only the market place

(B) both the classroom and the market
place

(C) home

(D) onlythe classroom.

97. Atext-book:

(A) motivates the students.

(B) teachers what astudent needs.

(C) isaninexpensive tool of learning

(D) controlslanguage learning.
98. Language needs of real-life situations are
fulfilled by :
(A) learning thelanguage structures.
(B) learning onthe streets.
(C) learning proper pronunciation.
(D) studying text-books carefully.
99. Which of the following statementsis not
true ?
(A) Real-life sitnations are more mean-
ingful for language learning.
(B) Classroom learning can be tested in
an oral recital.
(C) Foreign students learn language
mostly from text-books.
(D) Shopkeepers are intolerant of
incorrect pronunciation.

Direction (). No. 100 to 105)

Read the extract given below and answer
the questions that follow by selecting the
correct/most appropriate options :
Great, wide, beautiful, wonderful world,
With the wonderful water around you curled,
And the wonderful grass upon your breast
World, you are beautifully drest.
The wonderful air is over me,
And the wonderful wind is shaking the tree,
It walks on the water, and whirls the mills,
And talks to itself on the tops of the hills.
You friendly Earth, how far do you go,

With the wheat — fields that nod and the rivers
that flow

With cities and gardens, and cliffs and isles,
And people upon you for thousands of miles ?
Ah! Youare so great and I am so small,

I tremble to think of you, world, at all;

And yet when [ said my prayers today,
Awhisper ingide me seemed to say,
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“You are more than the Earth, though you are
such a dot,

You can love and think, and the Earth
cannot !’

100. Inthe extract the poet has compared :
(A) World with the Earth.
(B) World with the air.
(C) The Earth with the air.
(D) Man with the Earth.

Mood of the speaker in all of these lines
is:

101.
(A) joyous (B) sad

(C) introspective (D) serious

102. The figure of speech used in the first

stanza ofthe extract is :

(A) Synecdoche

(B) Onomatopoeia

(C) Personification

(D) Simile

The figure of speech used in the phrase

*and whitls the mills® is :

(A) Synecdoche (B) Onomatopoeia

(C) Personification (D) Simile

The beautiful dress worn by the Earth is

made of :

(A) gardensand wheat-fields.

(B) water and grass.

(C) mountains and forests.

(D) mills andthe hills.

The cities, gardens, cliffs and isles show

that the Earth is :

(A) friendly (B) small

(C) well populated (D) huge

A teacher divides her class into groups of

four and reads out a text of about six sen-

tences. Learners listen to and jot down

important words and phrases. The teacher

reads out the text the second time. Then

learners discuss in groups the jotted down

words and recreate the text nearer to the

one read out by the teacher. What is this

task know as ?

(A) Mutual Dictation

(B) Punctuation Dictation

(C) Real Dictation

(D) Composition Dictation

Intensive reading refersto :

(A) reading atext for pleasure.

(B) reading a text for editing.

(C) reading atext for someone else

(D) reading atext for detailed informa-
tion.

103.

104.

105.

106.

107.

108.

109.

110.

111.

112.

113.

Knowing a word means :

(A) how the word is spelt.

(B) who speaksthe word.

(C) to know to write the word.

(D) how, where and when it is used.
Which typology of question does the
following question belong to ?

Imagine you are the narrator of the storg :
Write an entry in your cliary about your
experiencesin about 100 words.

(A) Inferential question

(B) Cloze question

(C) Extrapolative question

(D) Informative question
Poetryteachingis.................. .

(A) tolearn poetic devices.

(B) forenjoyment and appreciation.
(C) towrite acritical commentary.

(D) tolearn words and phrases.
Learning outcomes aim at :

(A) achieving maximum levels of
learning

achieving minimum levels of
learning

ensuring all the competencies are ac-
quired by learners

(B)

©)

@)
Ateacher brings anewspaper to her class
VIII students and asks them to find some
advertisements. She then asks them to list
ouwt how advertisements are designed and
what an advertisement contains. What is
the newspaper here ?

(A) Aninstrument oflanguage learning
(B) Atechnique oflanguage learning.
(C) Materials forlanguage learning.

(D) Forreading,

National Curriculum Framework 2005
agsigns ‘supplementary” and ‘complimen-
tary’ roles to English language. This means
that :

(A) Englishlanguage teaching has noth-
ing to do with teaching-learning of
other languages.

English language teaching is a hin-
drance to leaming of other languages.
Englishlanguage teaching violates the
mother tongue based langnage edu-
cation.

English language teaching should
supoort learning of other langnages
and subjects.

output oriented learning

(B)
©)

D)



114. Areader uses her prior knowledge, makes
semantic cues and syntactic cues then
moves to other more specific information.
What model of reading the reader here
adopts ?

(A) Topdown model

(B) Interactive model

(C) Wholelanguage model

(D) Bottom up model

Drilling is ateaching-learning technique
Or astrategyin................... .

(A) Structuralism

(B) Communicative learning teaching,

115.

(C) Lexical approach

(D) Constructivist language teaching
Which of the following statements is True
oflanguage learning ?

(A) Firstlanguage supports the learning
of'second language.

Language learning has nothing to do
with content learning,

Every language is different and
learning oflanguages is also discreet.
First language interferes in the
learning of second language.

Multilingualism as a resource in
education aims at :

(A) making learners learn as many
languages as possible.

(B) usingclassical languages for teaching
learning.

(C) enabling to learn English langnage for
jobs and mother tongue for
culture.

116.

(B)
(€
(D)

117.

(D) making use of languages of learners
fo teaching-leamning,

A teacher asks her learners to collect
words/phrases on various aspects they
see and notice in their markets and streets.
Later, the learners write the words and
phrases according to the category and
discuss them in the class. What is this
practice known as ?

(A) Genre based words

(B) Active vocabulary

(C) Thematic vocabulary learning,
(D) Topicwords learning,

What does CLIL stand for ?

(A) Content and Language based Inter-
esting Learning,

118.

119.

(B) Content and Language Integrated
Learning,
Context for Language Integrated
Learning,

Content Language Inter Learning,

(€}
(D)

120. Which of the following statements is cor-
rect ?

(A) Receptive vocabulary are words we
recognize when we hear or see and
productive vocabulary are words we
speal or write.

(B) Receptive vocabulary are words we
discourse with people and produc-
tive vocabulary are words in written
text.

Words from other languages are
receptive vocabulary and words from
native languages are productive

vocabulary.

(©)

D)

Receptive vocabulary are words we
speak and productive vocabulary are
words we hear.
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Language-II : English

Direction (QQ. No. 121 to 128)

Read the passage given below and answer
the questions that follow by selecting the
correct/most appropriate options :

As science progresses, superstitions ought to
grow less. On the whole, that is true.
However, it is surprising how superstitions
linger on. If we are tempted to look down on
savage tribes for holding such ideas, we should
remember that even today, among most
civilised nations, a great many equally stupid
superstitions exist and are believed in by a
great many people.

Some people will not sit down thirteen at a
table; or will not like to start anything
important on aFriday; or refuse to walk under
a ladder. Many people buy charms and
talismans because they think they will bring
them luck. Even in civilised nations today,
many laws are made onthe basis of principles

which are just asmuch unproved. For instance,
it is often held as a principle that white people
are by nature superior to people of other
colours. The ancient Greeks believed that they
were superior to the people of Northern and
Western Europe. The only way to see if there
is anything in such a principle is to make
scientific studies of a number of white and
black and brown people under different
conditions of life and find out just what they
can and cannot achieve.

If is, however, true that the increase of
scientific knowledge does reduce superstition
and also baselesss guessing and useless
arguments and practices. Civilised people do
not argue and get angry about what water is
composged of. The composition of water is
known, and there is no argument about it.
121. Who believe in superstitions ?

(A) Only some civilised nations.

(B) Only some tribals.

(C) Alltribals and some civilized nations.

(D) Allcivilised nations.
122. Study the following statements.

(a) Ancient Greeks were superior to
other European nations.

(b) Science helps us fight superstitions.
(A) (a)is wrong and (b)is right.

(B) Both (a)and (b)are right.

(C) Both (a)and (b) are wrong,

(D) (a)is right and (b)is wrong,.

Which part of speech is the underlined
word inthe following sentence ?

On the whole that is true.

(A) Pronoun

(B) Conjunction

(C) Preposition

123.

(D) Determiner

124. Identify the part of speech of the

underlined word in the following sentence.

It is often held that as a principle.

(A) Adverb (B) Adjective

(C) Preposition (D) Pronoun

Fill in the blank in the following setence.

.............. is opposite in meaning to the

word, ‘superior’.

(A) Prior (B) Inferior

(C) Lower (D) Higher

The statement which best sums up the

passageis

(A) Drrational beliefs decline with the
advancement of science.

125

126.



(B) Civilized nations are no less
superstitions than the savage tribes.

(C) Weare very different fromthe savage
nations in our beliefs.

(D) Superstitions disappear with the
advancement of science.

127. We should not despise the savage tribes

becanse :
(A)
(B)

theyindulge in useless arguments.
the have
superstitious.

we are no less superstitions than
they are.

stopped being
©
(D) they donot believe in science.

Which of the following has a scientific
basis forit ?

128.

(A) Number thirteen is inauspicious.

(B) Talismans and charms always bring
luck.

(C) Fridays are as good as other days.
(D) Weshould not walk under aladder.

Direction (Q). No. 129 to 135)

Read the passage given below and answer
the questions that follow by selecting the
correct/most appropriate options.

If asked, “What matters are related to health
f.e. health decisions ?” most of us would
answer — hospitals, doctors and pills. Yet we
are all making a whole range of decisions about
our health which go beyond this limited area
of doctors, pills etc. For example, whether or
not to smoke, take exercise, wear a seat belt,
drive amotor bike, drink alcohol regularly etc.
The way we reach decisions and form attitudes
about our health is only just beginning to be
understood.

The main paradox is why people consistently
do things which are known to be very
hazardous. Two interesting examples of this
are smoking and not wearing seat belts.
Addiction makes smokers keep on smoking
and whether to wear a seat belt or not is
affected by safety considerations. Taken
together both these examples show how people
reach decisions about their health.
Understanding this process is crucial. Only
then can we effectively change public attitude
towards voluntary activities like smoking,

Smokers run the risk of contracting heart
disease, several times more as compared to
non-smokers. Even lung cancer. Despite
extensive press campaigns which have
regularly told smokers and car driversthe grave
risks they are running, the number of smokers

and non-wearers of seat belts has remained

much the same. Although the numbers of

deaths from road accidents and smoking are

well publicized, they have aroused little public

interest.

If we give smokers the real figures of deaths

caused by smoking, will it affect their views

on the dangers of smoking ? Unfortunately not.

Many of the real figures are in the form of

probable estimates and evidence shows that

people are very bad at understanding this kind

of information.

129. Study the following statements :

(a) Thoughit is very dangerous, some
people don’t quit smoking.

(b) Whether or not to drink alcohol is
not a health decision.

(A) (@) is wrong and (b) is right.

(B) Both (a) and (b) are right.

(C) Both (a) and (b) are wrong,

(D) (a)is right and (b) is wrong,.

Which ofthe following pieces of advice

can be easily ignored by the people ?

(A) Wear a seat belt.

(B) Don’t drink alcohol.

(C) Don’t drive a motor bike.

(D) Don’t smoke.

Which part of speech is the underlined

word in the following sentence ?

130.

131.

Yet, we are all making a whole range of
decisions.

(A) Conjunction (B) Pronoun

(C) Preposition (D) Adverb

Which part of speech is the underlined
word in the following setence ?

132.

Understanding this process is crucial.
(A) Preposition

(B) Adverb

(C) Conjunction

(D) Determiner

133. Smokers run double the risk of

contracting heart disease.

The word ‘contracting’ here means

(A) removing, (B) catching

(C) avoiding (D) receiving,

An example of ‘limited area’ of health
is :

(A) taking exercise

(B) wearing a seat belt

(C) taking medicines

(D) smoking

134.

135. Why doesa common man choose to wear

a seat belt ?

(A) He wants to protect himself.

(B) It is fitted in the car.

(C) For fear of the policeman.

(D) There is a law for it.

According to National Curriculum

Framework 2005, which one of the

following is not an objective of language

teaching-learning ?

(A) ability to read with comprehension.

(B) effortless expression.

(C) to know the history of languages.

(D) the competence to understand what
one hears.

Which one of the following is ret true

of language learning ?

(A) Grammatical rules are important for
learning a language.

(B) Language learning takes time.

136.

137.

(C) Langnage learning needs a context.
(D) Reading is making meaning.
Which is an effective way of teaching-
learning grammar ?

(A) Presenting grammar form in a
natural discourse, then explaining
how the form is made and used.
Presenting single setence examples
in plenty of ways and then
explaining the form.

Teaching through a typical grammar
book.

Teaching the rules first followed by
examples.

What status is given to English langnage
in the Indian Constitution ?

(A) Associate official langnage

(B) Official langnage

(C) Foreignlanguage

(D) Recognised langnage

Alanguage teacher asks learners to write
a paragraph on ‘scarcity of water’.
Learners gather information from science
and social science books and other
sources before writing. Such task aims
at :
(&)

138.

(B)

(©)
(D)

139.

140.

completing the syllabus of other
subjects simultaneously.

achieving language learning across
the curriculum.

(C) enhancing co-curricular skills.

(D) developing the scientific attitude.
Which one of the following is rof an
assessment tool for language learning ?
(A) portfolio

(B) Assignment

(B)

141.
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(C) Redlia

(D) Observation schedule
Teaching a novel is to promote :
(A) reading for details

(B) reading to become a writer

142.

(C) reading to learn vocabulary
(D) reading for pleasure
143. Story telling as a strategy in language
teaching is aimed at........... .
(A) learning to retell the story.
(B) engaging learners with langnage.
(C) testing the memory of learners.
(D) learning the morals.
144. “Input Hypothesis® refers to :
(A) the relationship between what
langunages the learners know and the

languages they are tanght.

(B) the relationship among the learner,
teacher and the materials.

(C) all the inputs of the school.

(D) the relationship between what the
learner is exposed to of a language
and language acquisition.

Which one of the following makes the

communication a cyclic process ?

(A) Receiver (B) Feedback

(C) Message (D) Sender

Top-down process of reading :

145.

146.
(A) proceeds from part to whole.
(B) proceeds from centre to periphery.
(C) proceeds from bottom to top.
(D) proceeds from whole to part.
147. A teacher asks her learners to discuss in
groups of four, just down ideas and then
develop them in an outline to write a
paragraph. Learners then edit the
paragraph into a final draft. Which
strategy of writing does the teacher
follow here ?
(A) Process approach
(B) Product approach
(C) Discussion method
(D) Group work
Transactional listening :
(A) lays emphasis on harmonious
communication in the social context.

148.

(B) doesnotrequire careful attention to
details and facts.

(C) is interactive by nature.
(D) lays emphasis on conveying
information.
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149. CALP stands for :

(A) Cognitively Advanced Language
Proficiency
(B) Competency based Academic
Language Proficiency

(C) Comparative Academic Language

Proficiency

(D) Cognitively Academic Language

Proficiency

*Atask’ in Task Based Language Learning,

means :

(A) a piece of work designed by the
teacher for language teacher.

(B) atext-book exerciseto be carried out
by learners individuals.

(C) atask for the teacher for assessing
learners language learning,

(D) anactivity where the target language
is used by the learner for a
communicative purpose.
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& 4 TN Y b B faw fkar
AT S |50 98 9 B, 5 91 g @
URER® T BT f&R1E S & 99
3P R w3q iy B Ren @ fAwdig
Ere]

(A) T30 1T FeAl 9 Bad FAT (1)
W 2, Fife fiip, PO wehe &
Taeed 9 @luy @l favenfoe v 21
21

7Zn+ CuS04 — Zn804 + Cu

. (C) TERTEET # URh MY & ORER

() S gaaiier A e 2
3| TN W U ey &
TREY —10°C'H 110°C b w2 el
oHTIER T IR 35°C H 42°C b 919
B

(B) T8 &I =41 HEwqd & f LPG &
HANTH (S A7), 9= 9 3
g A st e 21 A Y e
A HM 20-26 MI/nd 991 LPG
B HHE T 46.1 MI/m3 B0 81

, 50%12
(A) Usel 12 e 9 el 01 = o
=10 f&
_ 40%18
18 frde d el g0 = — -
=12 fir

el 18 el U =10+ 12 =224

(D) y=dl U= 31& Ux SAE 44, diees
U TR A 2 19 A e I e
foreq |E 2 |

(A) FHeTe FU BRI S Wi smare
AT aEg & R e Pl 2l §
U 7 30 Y a1 fded W B |

(D) fas s &1 s 8= 8
210 ¥ & e 3 oy | 2

(A) I greTErEl 2005 S JATER 3=
o= Rien w=l & Ui frs 2
12T |

(C) U 3= fa= foren &1 arga=t &
UfchaTcH e el 1 Wee fobareperdl
el WA & BT B B

(B) 3T Pl VIII & gl P i wor
@ Y A Il B 3R gyl 92w
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73

74.

75

76.

77.

78.

79.

80.

81.

g 3 P 97 9zl @ wey s b
P URT Bl B, d=di B Adelib
PrEredl Pl derar 2dr B, der gk
AR el B U o1 Bl sl B
. (C) 9= e wN U A= e A
ITENIH P UBT— YRIBA
qRAMNIS 9T 9 A8 241 =1y |
. (B) Ul dwll @l wys A osnod W omel
AR $HP UL 93 HyE 0
B P B R, O 5y = A
HHIIHIME = Pl 9gdl et
21
(C) 3¢ T P ¥ “YEFE” W= 9
e Qe d Ui diy
BIET B
(C) /=1 WM, fa=iT BT BT 4T =0
= Ferd o T 9 = Wik
SRR BT UIgE= A9, A b e
S Y |
(B) HALRUN AH{, quiF e qer
qiEwifera 9 fawr § A @ B
Bl Ul AT ST Febell B |
(C) auiH JHfieie, sidelleb- uX ARG
21
(A) TIEHT 9t &1 P SR 9630
H 2[0S | T2 IS HYEEE F 45000
HeY &1 SA1E U U AR | SR
U bl Bl 1 B, Sl W & BT
H g Bl B SERT S ST
TR H IS 1 IR 2
(D) WY 92 oy 2, o <a1 s, ofiehi
AU T SR B g B g
TR 3T derll W g ae ¥
(A) HMIIT: TR o Rl gad 9 gy
Tk Bl TR @ S AN A ugEr
2, TAfF FEEY 990 UF A U
AT 2, Sl S 376 B SN A gad
b ol 51

(B) & gher 91 23—
wdifesds svd — eI
dfdesd Ared — 9@
AFAfAE s — U
TwpIfdel el — T ot
(C) X eE3IR® 3F°d B, I8 TARH
FAR AR ¥ Safter YEar 2 99

Ao & UEH & fdu aaead 3|
g X afere § wfad a3, 9 ¥z
U SR TORe WY ST
Pl E | 9P SUAN & 0 Y ¥ e
B ST T ST 2 | Y YR e
e FferEm 21




84.

85.

86.

87.

88.

89.

90.

91.
. (A) G W UEd i 9 ‘each’

93.
94.

95,

96.

97.
98.
99,

100.
101.

. (B) S JE UM ¥, Amera B el

B W T S A W Sarsi Bl
TR fAT S ¥, Sl T B T
@ fHUa # FHad &I START 2 2

(C) WHLAAPRW, I & I
T U WA B, Said e fi
21

() Top¥CeilepY Ul (YaTehYUT) Teh XHFIh
81, afecs Tep diferep URTe &, wEih
UPHRT W90, TIAT a2 U
IFAFTS R 2|

(A) BT & MBR & AHTHAR RIS, M=,
e (dreq), STl e Heer W B
Bl

(B) Haferl # Sufter f1a (%) =1
U gl TS Bl e B
g1

(C) 9 Wulsle R U= & &, o
faggd uRae &l g1 & @ fog <is
BT STRT fbaT S bl ¥ | P
IS YAleTh A1 BT 5 B E |

(B) 9P 1 e =l U 379 Hfell &l
=g | 3 4 WIEX B | 3R Hgel a9
feifed & 4= @ g3 §9WeR (4 -+ 4)
B |

A9 30
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HIT-111
Language-1: English
(B) Both («)and (b)are right.

determiner ¥ |

(B) IR (Phrase) ¥ Uga T T
conjunction & |

(C) T== motivated (adj.) SIPWIRT &
FAEN -interested.

(A) ¥ ‘haphazard’ (adj.) ‘ITHE,
JFeaited & e w8 Yol W=
—"unorganised’.

(D) Only the classroom is the best place
to correctly and quickly learn a foreign

language.

(D) It controls language learning.

(B) Learning on the streets.

(D) Shopkeepers are intolerant of
incorrect pronunciation.

(D) Man with earth.

(A) Mood of the speaker in all of these
line is joyous {3IFE) .

102.
103.
104.

105.
106.

107.

108.

109.
110.

111.

112.

113.

114.
115.
116.

117.

118.

119.

120.

91.

93.

94.

{C) Pessonification (A-EB) |

(B) Onomatopoeia.

(B) The beantiful dress worn by the Earth
is made of water and grass.

(A) that the earth is friendly.

(D) This task is known as—composition
Dictation.

(D) Intensive reading refers to -reading a
text for detailed information.

(D) knowing aword means ‘how”, where
and when it is used.

(C) Extrapolative question.

(B) Poetryteaching is—for enjoyment and
appreciation.

(C) ensuring all the competencies are
acquired by learners.

(C) For this process Newspaper is
known materials for language
leaming.

(D) It means that English language
teaching should support learning of
other languages and subjects.

(A) Topdown model.

{A) Structuralism (HR=HEE) |

(A) First language supports the learning,
of second language.

(D) Multilingualism as a resource in
education aims at-making use of
langunages of learners for teaching
leaming.

(C) This type practice known as—
Thematic Vocabulary learning,.

(B) CLIL stand for—Contentand langnage
integrated learning,

{A) Receptive vocabulary are words we
recognize when we hear or see and
productive vocabulary are words we
speak or write.

HIT-1

o1 : fR=

(A) TEIERY B WM AU ¥ A &
RO 3HY AT TN R W
TIGeH | F59 A Bl SR U= UeH
A @i} gdu= 0 v9 H, F P g
1 U, 931 T AT HHH el
3, SN —RISTe T BT o

(C) TaI¥ U4 SIS 3T T AT 2
TPl AT o Yol Tl P T P
EIGIERE ISR RICE R BICCR G|
2, S R ST 0 aoT s
¥, UIUMR] 9594 ¥ |

(C) "o H 95 U= W SR & gt
§ foem fadmw uz B, ford w=El @
o b1 13RI BT el el B 9
fep—fadoor e F | e wHY Ust
Tpa BT RIS 1 S FR 3= B

(C) TEIRT PTG A9 2 Sfiada 3R
BT AZ—AEHES P Tgel | A

95.

96.

97.

98.
99,

100.

101.

102.

103.

104.

105.

106.
107.

108.

10 I B G2 | s B G e
TURIFIRT % ST A & JraaR
AT arel | Sifae (-, w7,
WEaR, g WiRN & "aied HRw
21

(B) R 1 aref & o211 519 U
RGN H Ul gRT ATFE =1 Sl
3, B 5 3FES ol oIl 3 990
YR WIS SHede e § aen
ARIERYT T Pl SIS—AFHES ool
&, T At )

(A) 9 HW & WY HFHSH T201 R
2 9 BRA IE-AHFAES B BISd
&, sifedom a7 & fore @ 54
FIdT IrZ-sTgdIss Us-uls
TRl & forg T ang 2

(B) SMaHIS UBW B BT Gfpan
FTRrpTET SHaeTR (Srs-—Hdlsg, ug,
gl F WA A 2, st W
SagiA $1 Sifad @ & fau
Sfiadis P arazaddl Al ¥ |

(D) B AB—HFHES |

(B) ®le SE—3AFuEs AN i
I U HA T2 |

(A) FeAol BI A TP BT B A T Bl
T UZAI 2, I HTI 3 TBR
Fee g T H 9 A 3N B R
SHBI belsl SN b B AT

(D) FrEmT 3o el § @ fed &
19 o 311 =l &1, aifd a8 Bs
B | s

(A) "Ha s 3 e o g sigifie
31 )l @ Smrw ¥ 49 @
TSI AR BT M BRI Al
Ti 4 AFANE TR BN &
forg == frg () 21

(B) AR ¥ TR A H 93 91 919
FEON H Z W 99 PrErr @
T 20 DGR B B

(B) "8 |4 Thges o foTu e gam
& T qd e ¥ g () S
afifa fm o 31

(B) teg—e 21 firem & aref & ¥ g8
A A A HIAT q=A1 PR B FEn
1 N Rl B e o | A e
& PR I U3, UIS & I el
BRI

{A) AT bl SARIHT |

(B) Mg 3rgHY Az Wi wWR T
AN =T W UagRS & ARRE
Haiferp Haaql B | Y & IAGHY
wTfeT SIfa @l 71 99 SR v
¥ afed drEd # A wad wEgy
T ¥

(D) SRIF T YO FG B, FhilP
A § gHtEd I&eh TSI B

YR | 47



109.

110.

111.

112.
113.
114.

115
116.
1n7.

118.

119.

120.

48

TR fIY & RTd W B drell
Tl S & e S b 2

(C) ST Fo & o9 ¥ 99 FERE
et g ¥ |

(A) SURIE e b fava F A quid - Hey
2 1% o 1 s uRaw g2 B
48T TRID ¥ A EM § 9EEe
A3, lifeh fRT T bt vy uRkder
{QTTa%on) SRT T S <@ 29, g
*ad: 8 4R SRR |

(D) 9= MAMF W G A9 bl
& e F el HaH Hewayw ¥,
s eravia Sire e, e
[, Uq feriad odien, < Rerfkri
AN B 1 Wigneh cIfdd & 9
TSB! WifE FiIA B ST 2

(C) IFRmET |

(A) TdIHa

(D) 1B & Rigiord 3TH- fafy suEr
AT B, TP S ST A, el
q U] T RIS 2 fagers o qH=
et qen fagrdl & gR1 foban S
21

(B) fa=1 w1 & il

(C) ATl S1aw_T |

(A) SURIFT o quid §e 2, forrT
ST < TIPT AietT, AW o O
I ST T I H B AR, Fih
¥ S WE & IR B P S
ST el 21

(A) 9= WeAHE W= 97 A1 HeE &
TR AN BT IIB UG e Ay
Bl T2 B9 H FHA A 2, FF 39
TR UY AN 9 9 Ul e va
gl 1 3acile AGTUP &, Sl
AR Tq Fir=2iar @l 52 B |

(A) T WEqY SHRET 8, S ¥ e
|/ A w1 w9y e, 99
TSRy & |11 SHPT A= <
ud A 34 & e Er dEdl
21

(D) UG &1 7% B—UgH HHITT BIS Al
SERE WA T @ SR Al
U B, S SHP! UghY HHH BT
TP SNGLIHATAR TR (2 IR |

{111
W1 : Hperq

. (A) TregdaEren & 9 9 REge TMm

B e | Ug AN DlelEe
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100.

101.

102.

103.

R Uil Qe § yad B 1 uEl
o SR TWH B W s @

Y[ A< 21

. (D) F=1 A & T aaradra § H-

ALHI & HIE AR W RS a9 O
femigpe W fard fopa |

() R R PaaE S &

HAFIENF UF 8 | A ASABR
Yo JoY Udhaa & B4 8 |'F’ €1y
| FIag U JI1 W T |
FAA IS I E |

. (D) REpe 4 & XEP) AL S A

TURN & el UY A=A AT 1T |

C(A) BRIRC TR A E ATy @ U g

3| dcdABR, UM YOY Ybded #
PR gF I B

(B) W55 = UH— AN = H AceAb
ULHYSY Fgd= &l A PR U
Yoarfa’ ug gqadar 31 g9l @l
Upda W Il U a9 B

(D) IFHEIC & U9 § AH FUS ¥
TIAM B Iy H Har TE O =
TR T N WA 9 F A" |
STTRTSRT & | T8 Hr=Tfhe1l bl Seae
Tore ¥ |

(A) TP FUS & UM & FZFR e
firem 2 | e & Ui Pie g3 W=
¥ gRyul I ey o § |

. (B) Fsipe T o1 e fa-eudd

el & 4§19 e 21
(A) B 9 Bl AUAI-3T 7aed & T
Pl Vel A1 9 HFBY A8 AR
ARG | (SF2 Y &bl HIH S 98 dAdR
T8 B ) Bl bfa A feran 90
B—GTEl P 319 Y b B AT
WS B Y S R @R &
forw aduE o F A Slifaa B
AR, adur @i B & wraven
) =R 1Sl T Sl ) Brgae
M P HEdl 3, oIave ddl B,
TP A T @ A e, 9y
a8 99U Sild @l I BT el B |
| b1 37ef 1 W & Ay
AN gea: A TS D T |
(A) T241 (FEHY) 991 Gig (STH)
T AT | AT | Fal G e
A § @ USH 9S B 1S Ug
e |

(€

(B)

104, (C) W& How X geea § = adr
TR 1S R S arenal @
e A e g uel Bl SR e
& Afde geel 1 ofa TR & difsa
P W A B

105, (C) |99 W WU HAT FEBL Bl
B, SiaTaT 211 8 | 99 et o
UX AU H FAT A1 | g
AT el T Bl JEDR Bl
21

106. (D) 107. (B) 108. (C)109. (A) 110. (A)

111. (B} 112.(C) 113. (C) 114. (B) 115.(C)

116. (A) 117. (B) 118. (B) 119. (A) 120. (C)

HAT-IV
Language-IT : English

121. (C) All tribals and some civilized nations
believe in superstitions.

122. (A) (a)is wrong and (b)is right.

123. (A) 9 ¥ UHE YWIiBd 2T “that’ U
p]."onoun%1r |

124, (A) 9190 H WA JQ@Mbd T ‘often’
TP Adverb ¥, 5 held (v) BT qualify
oI

125, (B) 99 & Raq T@I19 H inferior (3%,
) 1 YR B, T2 IS superior
(afrss) = opposite =1

126. (A) Irrational beliebs decline with the
advancement of science.

127. (C) ......... because we are no less

superstitious than they are.

128. (C) Fridays are as good as other days.

129. (D) (a)is right and (b)is wrong.

130. (C) Don’tdrive amotorbile can be easily
ignored bythe people.

131. (A) 9199 H YYE underlined T3 “yet®
conjunction &1

132. (D) 9 W W underlined 2153 this,
determiner ¥ |

133. (B) 9r#¥ ¥ UYFd underlined I3
Contracting (T80T &A1/ &)
%1 | @2 3—Catching,

134. (C) Anexample of limited area’ of health
istaking medicine.

135, (A) A common man chooseto wear a seat

belt because he wants to protect
himself.

136. (C) According to National curriculum
frame work 2005—to know the
history of languagesis not an objective
oflanguage teaching-learning,



137.

138.

139.
140.

141.

142.

143.

144.

145.
146.
147.
148.

149.

150.

121.

122.

123.

124.

(A) Grammatical rules are important for
learning alangnage.

(A) An effecting way ofteaching learning
grammar is presenting grammar form
is anatural discourse, then explaining
howthe form is made and used.

(A) Associate official language.

(B) Suchtask aims at : achieving langange
learning across the curriculum.

(C) Realia-is not an assessment tool for
langnage leamning,

(D) Teaching a novel is to promote :
reading for pleasure.

(B) Storytelling as a strategy in language
teaching is aimed at—engaging learning
with langange.

(D) ‘input Hypothesis® refers to—the
relationship between what the learner
is exposed to of a language and
language acquisition.

(B) Feedback.

(D) Proceeds from whole to part.

(A) Process approach.

(D) It lays emphasis on conveying
information.

(A) CALP stands for—congnitively
Advanced language proficiency.

(D) “A task’ in Task Based language
leaming means—an activity where the
target langnage isused bythe learner
for acommunicative purpose.
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CIRC L

(B) T, Sit= | wafae e fifee
A SE @ A | IR 2 B
aref B 3APR HA AN, S
IR0] Y < AR A A
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fo1e w7~y Redll e wadl o frE
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(A) WHGE TG B SRR P U
FRUI TGP P ITAR, T 0 gpR
71 BT <l F2E | O HHAT 1 HT
PR S 1B A1 S | URUIREGSY

125.
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127.

128.

129.

130.

131.

132.

133.

134.

HHIST UEfST T2 WHh 9 IS
TR S o1 XA E

(A) TNT-Sh AT v § Safh S
I (AU-eN, -8,
IFR-sgiEd) [ae™ wss @ gy
FT E

(B) Tl 1 bR &4 Siisd &1 915
STEA AT R0 R | T BHA UH
BN AP B |

(C) "9 ST’ I o iy fawse—
g + SUoH = ggreid
IR = Y 6 g, o
STAR oI W A M B AE T
Y <1 2F & PR Sl 3 Sl
21

(A) oI SiEA & Uy g 4 s=aa
ST TR |

(A) 92 RIS s RIS afke 3 o=
B9l iR R @) HaEd % v Rifdg
s ot fid fawa § Halya figq
Bl ¥, e B, FE U orfdifia
s fr RN & 8 oRaw &
GRIRES CIRSETE s Y

(C) snRAd = 2T Afdres qor A B,
Fifs A =9 AT &I 6" g
qRYEr (ararasm) &1 gRRerREr 9
0 ¥

(B) gRIMET =afRs SiftepRl T @eiel
M BT RE U XEdl B | oE
Tb TRE 98 Y HERPRT B b
SN e B, T8 Boal & FdeT &l
A AfTaR! A 2

(B) QU ara |Yh i B fAEd @)
1 21 b e Suarry @ g9 |/
AT g B A GYeh aad b
ST W E, S
TN FB ANPR 2 AR FB IA
1 1

(C) "SR T JaERT YR ¥, Wi
39 W Ud FgH | 3 IuH ae
AT H * 3] IU BT YT ZA
21

(C) *nfd I &l 79~ 91 & fou
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144.
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148.
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(D) gE-AIET § 58 WO B W& W
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B HAY AlE g () e A
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(C) Tswrfam |
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(D) W= |

(D) FEwaq |
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ST BT fIRI BT ¥ HATekb] 6l Had
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PR T AlChl F BRI 2R H @l
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(A) FoIeT P AN YA DS Wi
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qa A 99 (HaOE  HEEET,
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4

(D) gl |
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TEIPI A 31 fA & Uil Bl T
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0 TP S Frsr b1 = foRT o
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(D) HF9 W SNl T SEE 2
(B) 9= WeIHE WY UX T4 Bl W
ST B b I bl FRe |
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EE T AU oiigd @ feT |
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LAl I |
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Rrsnm wreny wae |l wawayu
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125,
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(D) ofd il | HaR Aby Urend AR
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P sl oI § W= |

(A) Tawafd=nes &1 @5 WS =

(B)

(©)

faeR F= & foIg 999X 9% T |
Udh IR AleHllE T & F F
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@ g I A SN 9eir BRI
91 B3N U lod T T4 P |
oI gU s I S SHs (SHhT
T S5 =1 be 3aT o | e

131

132

133

134

135

&b boul [Aelly Bl AP ®N Bl
wies 9P YT ¥ vl wU A epe
g

. (C) o @] S S s s

HEREIR GRSl T |
Tl T Sig UX Sl 39 =
H 4 5ol ok | IR F A ¥
e’ a= a9 B

. (B) “onNfIeny’ olR o= SrhaN <

& FAF ¥ | SfE daSeaer
YeHYeY Tehaa H B0 & fIad
aref ® Camaw | eI o
AGABN YA YT GhHIad B
FFoE & | TR FHERG B B
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. (D) 9 HM ariife & g9 9 WE uF

TP BT H fred 191 | T8 Tdle
Afpep AIiE H AP T 2|
TN H SH RN P PR TS 9 ZaA |
Pid B BT TR Bl SABT F2T
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TH ER B = B

. (D) 3 (3T} HTg T ACTAHTR GoRTGE

AT P ®Y AT I B | U2
gy & wU B R’ w6 ||

. (A) U el | areiiies A & U R

9| b IR 98 W P & feg
TN A4 & feaw 1 |

136. (D) 137. (B) 138. (B)139. (D) 140. (B)
141. (D) 142. (A) 143. (D)144. (D) 145. (B)
146. (A) 147. (C) 148. (D)149. (D) 150. (C)

aa



	CB687 (a).jpg
	inner.pdf
	02 sol.pdf



